
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-open-stand-assembly
7/4/25

JSG-6CS Open Stand Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-open-stand-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-open-stand-assembly
7/4/25

Description

Index Number Part Number Description Size Qty

 708566 Open Stand Assembly Complete  1

A 612049 Stand Top (blue)  1

 612049W Stand Top (white)  1

B 150603 Stand Leg (blue)  4

 150603W Stand Leg (white)  4

C SC089400 Carriage Bolt * M8 x 16 40

D WF081818 Flat Washer * M8 40

E WS080000 Lock Washer * M8 40

F NH081300 Hex Nut * M8 40

G 612051 Cross Brace – short (blue)  2

 612501W Cross Brace – short (white)  2

H 612050 Cross Brace – long (blue)  2

 612050W Cross Brace – long (white)  2

 AB612101 Hardware Bag (includes items marked
with *)  1

Additional Information

Stock Number 708598K-3

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-open-stand-assembly

